








J N - n
5 = p, ox=D  -

c
. . . . . . .

N - l
..(7.8.1)

6 =  v7
ox =  AL

fi
. . . . . . . . . . (7.8.2)

ST 203 219



4,4

436

62

694

66

ha&J
2

2 2 0 S T  2 0 3



6aiaoh x x f fx f(i - &fi)l

2, 4 3 3 2 6 2

2, 6 4 4 2 8 0

4, 2 3

4, 6 5 5 2 10 2

6, 2 4 6 24 4

6, 4
I 51

4 Ifi 24= FE - =4=p
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1 .  /4’x =p =68.0Ca

3/qz-  = 0.6 ia

2. pi = ~1 = 68.0 iia

“-5
2:  -=

it - 68.0

Ox 0.6

P(66.8 <X <68.3) 66.8 - 68.0= P( <--.-- i-5 < 68.3 68.0-
0.6 0.6 1

5

= P (-2.0 < z < 0.5)

zz +LG%%%dnGa=Hil.¶  z = -2.0 fh  z = 0.5

= (iUdSEHil9 z = -2 t&J  2 = 0)

+ pMa=99i19 z = 0 fxl z = 0.5)

= 0.4712 + 0.1915 = 0.6687
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“-4 66.4 - 68.0
4. P(X <66.4)  = P( ~ <

0.6
)

OX

= P(Z < -2.67)

-2.67

ii-GA  th!leil~M"nln~sa'9 = (80)(0.0038)  = 0.304 W%f$

x- = 320 = 0.64
n 500
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,u =  p ;  0 = YJYiiqy . . . . . . . . . . (7.9.1)

WC  = p ; 0, = . . . . . . . . ..(7.9.2)

224 ST 203






















